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Name:                                                     Weekly Homework Sheet Week 28     Date:	
  

Monday	
   Tuesday	
   Wednesday	
   Thursday	
  

Find the Difference. 
32,758 – 2,998 

Find the Sum. 
49,388 + 65,795 

Round 189,039 to the nearest… 
100:   
1,000:  
10,000:   

Compare the numbers using >, <, or 
=. 

 
389,029 ____ 389,290 

 
3,290,400 ____3,290,004 

Find the quotient. 
3,928 ÷ 6 
     

Find the product. 
287 x 75 
 

Find the quotient. 
8,429 ÷ 8 
     

Find the product. 
5,495 x 6 
 

There were 8,428 people at the 
holiday concert on Monday night.  
If the same number of people go to 
the concert on Tuesday, 
Wednesday, and Thursday, how 
many people will have attended 
the concert all together? 

Ms. Perkins needs to order art 
supplies for the entire school.  
She would like to get at least 
8,000 piece of construction 
paper.  If each pack of 
construction paper has 495 
pieces, about how many packs 
will she need to get? 

Your school principal would like to 
make a Valentine’s day card for 
every student in the school.  There 
are 1,484 students.  If she has 7 
days to finish making the cards, 
how many cards will she need to 
make each day? 

Your school is going to start 
offering after school clubs.  There 
will be 9 clubs to choose from.  In 
order to have clubs, at least 23 
students will need to sign up for 
each one. What is the least 
amount of students that must sign 
up in order to have all 9 clubs? 

Complete the pattern. 
1 2 3 8  

3 5 7  21 
 

Find the GCF of 32 and 24. 
 

Create a pattern for the rule a +4 
     

     
 

Find the least common multiple of 
6 and 4. 
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Solve. 

7
5   x  4 = 

    
 

Solve. 

5  x  
10
9  = 

    
 

Solve. 

12
6   x  3 = 

 

Solve. 

7  x  
5
2  = 

    
 

Erin has a set of 10 index cards.  
Each index card is 3 ½ inches 
long.  She he was to lay the index 
cards in one long row, how long 
would the row be? 

Every day Sandra eats 1/8 pound 
of blueberries.  If she does this 
for 9 days, How many pounds of 
blueberries will have eaten? 

In Ms. Sander’s class 1/6 of the 
students received A’s and 2/6 of 
the students received B’s.  What 
fraction of the students received 
either A’s or B’s? 

A worm crawled 3 3/5 inches. After 
resting for a minute, it crawled 
another 2 1/5 inches.  How many 
inches did the worm crawl all 
together? 

Convert. 

10
3

 =             0.40 = 

Convert. 

100
88

 =             0.75 = 

Convert. 

10
6

 =             0.07 = 

Convert. 

100
9

 =             0.5 = 

Use >, <, or = to compare the decimals 
below? Write the decimal on the line. 

           
 _____       ______ 

Place the following decimals on the number line below ordering them 
from least to greatest.   

2.35     2.89    2.41     2.07     2.63 
 

 

Use the place value chart to order the 
decimals from least to greatest. 

0.45     0.6    0.37    0.09 
 

Ones . Tenths Hundredths 

 .   
 .   

 .   
 .   
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Answer Key - Weekly Homework Sheet Q3:6	
  
Monday	
   Tuesday	
   Wednesday	
   Thursday	
  

Find the Difference. 
32,758 – 2,998 
29,760 

Find the Sum. 
49,388 + 65,795 
115,183 

Round 189,039 to the nearest… 
100:  189,000 
1,000: 189,000 
10,000:  190,000 

Compare the numbers using >, <, or =. 
389,029 < 389,290 

 
3,290,400 > 3,290,004 

Find the quotient. 
3,928 ÷ 6 
654  R4 

Find the product. 
287 x 75 
21,525 

Find the quotient. 
8,429 ÷ 8 
1,053 R5 

Find the product. 
5,495 x 6 
32,970 

There were 8,428 people at the holiday 
concert on Monday night.  If the same 
number of people go to the concert on 
Tuesday, Wednesday, and Thursday, how 
many people will have attended the 
concert all together?  33,712 

Ms. Perkins needs to order art supplies 
for the entire school.  She would like to 
get at least 8,000 piece of construction 
paper.  If each pack of construction paper 
has 495 pieces, about how many packs 
will she need to get?  17 

Your school principal would like to make a 
Valentine’s day card for every student in 
the school.  There are 1,484 students.  If 
she has 7 days to finish making the cards, 
how many cards will she need to make 
each day? 
212 

Your school is going to start offering after school 
clubs.  There will be 9 clubs to choose from.  In 
order to have clubs, at least 23 students will 
need to sign up for each one. What is the least 
amount of students that must sign up in order to 
have all 9 clubs? 207 

 

Complete the pattern. 
1 2 3 8 10 

3 5 7 17 21 
 

Find the GCF of 32 and 24. 
8 

Create a pattern for the rule a +4 
     

     
 

Find the least common multiple of 
6 and 4. 
12 
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Solve. 

7
5   x  4 = 

7
62  

    
 

Solve. 

5  x  
10
9  =  

2
14  

    
 

Solve. 

12
6   x  3 =   

2
11  

 

Solve. 

7  x  
5
2  =  

5
42  

    
 Erin has a set of 10 index cards.  Each 

index card is 3 ½ inches long.  If he was to 
lay the index cards in one long row, how 
long would the row be? 35 inches 
 

Every day Sandra eats 1/8 pound of 
blueberries.  If she does this for 9 days, 
How many pounds of blueberries will 
have eaten?  1 1/8 pounds 

In Ms. Sander’s class 1/6 of the students 
received A’s and 2/6 of the students 
received B’s.  What fraction of the students 
received either A’s or B’s? 3/6 or 1/2 

A worm crawled 3 3/5 inches. After resting 
for a minute, it crawled another 2 1/5 
inches.  How many inches did the worm 
crawl all together?  5 4/5 inches 

Convert. 

10
3

 =  0.3        0.40 =
10
4

 

Convert. 

100
88

 = 0.88     0.75 =
100
75

 

Convert. 

10
6

 =  0.6       0.07 =
100
7

 

Convert. 

100
9

 = 0.09     0.5 = 
10
5

 

Use >,< , or = to compare the decimals 
below? Write the decimal on the line. 

           
 0.33             0.4 

Place the following decimals on the number line below ordering them 
from least to greatest.   

 

 

Use the place value chart to order the 
decimals from least to greatest. 

0.45     0.6    0.37    0.09 
 

Ones . Tenths Hundredths 

 . 0 9 
 . 3 7 
 . 4 5 
 . 6  

 

< 
2.07                     2.35   2.41            2.63                       2.89     
 


